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Profesor: Daniel Hernández (Profesor de Matemáticas – IES Melchor de Macanaz)


Simulacro de examen – Operaciones con enterosNOTA:_____

Tipo I. 													1 p  _____
	a) 4+7=
	
	b)-2-5=
	
	c) -5+6=
	
	d) 4-7=
	
	e) -4-9=
	

	f) -6-3=
	
	g) 6-10=
	
	h) 9-7=
	
	i) - 8+3=
	
	j) -5-3=
	


Tipo II.													2 p  _____
	a) 5 - 6 + 2 - 4 + 1=
	____ - ____ =
	b) - 2 - 3 - 5 + 4 - 1 + 3 =
	____ - ____ =

	c) 4 + 5 + 3 - 2 - 9 - 7=
	____ - ____ =
	d) - 6 - 5 + 8 – 3 + 9 - 1 + 8 =
	____ - ____ =


Tipo III.												2 p  _____
	a) 6 - ( - 3) =
	b) 5 - ( + 3) =
	c) - (+4) - (- 6) + (+3) =
	d) - (-5) - (+ 6) + (+2) + (-4) =

	
	
	
	

	e) - 7 + ( -4) =
	f) - 9 - ( - 4) =
	g) - (-3) + (- 8) - (+2) =
	h) - (+4) - (- 9) + (+1) + (-2)=

	
	
	
	


Tipo IV.												1 p  _____
	a) (+2)(-3)=
	
	b) (-4)(-9)=
	
	c)(+20):(-2)(-3)=
	
	d) (+9):(-3)(+2)=
	

	e)(+6)(+7)=
	
	f) (-8):(+2)=
	
	g) (-2)(-4)(-3)=
	
	h) (+8):(-4):(-2)=
	


Tipo V.													2 p  _____
	a) 23+ 45- 13 = 
	b) 3 - 2 4 - 1 - 2 3 =
	c) 4 + 5 - 2 3 - 2 4=
	d)(-2) (- 4) - (-5) (+3)=

	
	
	
	


Tipo VI.												2 p  _____
	a) (5-9)(- 4)+ 2(6-3)
	b) (5-3)4 - 2(-6-3)
	c)[9(7-34)]-2(-3)
	d) (-2) (+5) – (-3) (-7) – 5 + 48
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